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QUESTION 1

Which two are true about shrinking a segment online? (Choose two.) 

A. It is not possible to shrink either indexes or Index Organized Tables (IOTs) 

B. It always eliminates all migrated rows if any exist in the table 

C. To shrink a table it must have a PRIMARY KEY constraint 

D. To shrink a table it must have a UNIQUE KEY constraint 

E. To shrink a table it must have row movement enabled 

F. It must be in a tablespace that uses Automatic Segment Space Management (ASSM) 

Correct Answer: EF 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_3001.htm 

 

QUESTION 2

Examine the description of the CUSTOMERS table: You must determine if any customers\\' details have been entered
more than once using a different CUSTINO, by listing all duplicate names. 

Which two methods can you use to get the required result? (Choose two.) 

A. subquery 

B. self join 

C. LEFT OUTER JOIN with self join 

D. RIGHT OUTER JOIN With self join 
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E. FULL OUTER JOIN with self join 

Correct Answer: AB 

 

 

QUESTION 3

Examine the description of the BOOKS table: 

The table has 100 rows. 

Examine this sequence of statements issued in a new session: 

INSERT INTO books VALUES (`ADV112\\', `Adventures of Tom Sawyer\\', NULL, NULL); 

SAVEPOINT a; 

DELETE FROM books; 

ROLLBACK TO SAVEPOINT a; 

ROLLBACK; 

Which two statements are true? (Choose two.) 

A. The second ROLLBACK command does nothing 

B. The second ROLLBACK command replays the delete 

C. The first ROLLBACK command restores the 101 rows that were deleted, leaving the inserted row still to be
committed 

D. The second ROLLBACK command undoes the insert 

E. The first ROLLBACK command restores the 101 rows that were deleted and commits the inserted row 

Correct Answer: CD 

 

QUESTION 4
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You execute this command: 

CREATE SMALLFILE TABLESPACE sales DATAFILE `/u01/app/oracle/sales01.dbf SIZE 5G SEGMENT SPACE
MANAGEMENT AUTO; 

Which two statements are true about the SALES tablespace? (Choose two.) 

A. It must be smaller than the smallest BIGFILE tablespace 

B. Free space is managed using freelists 

C. Any data files added to the tablespace must have a size of 5 gigabytes 

D. It uses the database default blocksize 

E. It is a locally managed tablespace 

Correct Answer: DE 

Incorrect segment management clause It lets you specify whether Oracle Database should track the used and free
space in the segments in the tablespace using free lists or bitmaps. This clause is not valid for a temporary tablespace.
AUTO :Specify AUTO if you want the database to manage the free space of segments in the tablespace using a bitmap.
MANUAL :Specify MANUAL if you want the database to manage the free space of segments in the tablespace using
free lists 

E - Correct https://docs.oracle.com/cd/B28359_01/server.111/b28310/tspaces002.htm#ADMIN11360 Create a locally
managed tablespace by specifying LOCAL in the EXTENT MANAGEMENT clause of the CREATE TABLESPACE
statement. This is the default for new permanent tablespaces, 

D - Correct https://docs.oracle.com/cd/B28359_01/server.111/b28310/create005.htm#ADMIN11105 The most
commonly used block size should be picked as the standard block size. In many cases, this is the only block size that
you need to specify. Typically, DB_BLOCK_SIZE is set to either 4K or 8K. If you do not set a value for this parameter,
the default data block size is operating system specific. 

 

QUESTION 5

Which three statements are true about external tables in Oracle 18c and later releases? (Choose three.) 

A. External table files can be used for other external tables in a different database 

B. The ORACLE_LOADER access driver can be used to unload data from a database into an external table 

C. The ORACLE_DATAPUMP access driver can be used to unload data from a database into an external table 

D. They cannot be partitioned 

E. The ORACLE_DATAPUMP access driver can be used to load data into a database from an external table 

F. They support UPDATEs but not INSERTs and DELETEs 

Correct Answer: ACE 

https://docs.oracle.com/cd/B19306_01/server.102/b14215/et_concepts.htm B - Incorrect The ORACLE_LOADER
access driver is the default. It can perform only data loads, and the data must come from text datafiles C and E - Correct
The ORACLE_DATAPUMP access driver can perform both loads and unloads. F - Incorrect https://docs.oracle.com/en/
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database/oracle/oracle-database/18/admin/managing-tables.html#GUID-697B86CC-875C-4F68-AF80-49B41F33AE45
You can, for example, select, join, or sort external table data. You can also create views and synonyms for external
tables. However, no DML operations (UPDATE, INSERT, or DELETE) are possible, and no indexes can be created, on
external tables. D - Incorrect Partitioned external tables were introduced in Oracle Database 12c Release 2 (12.2),
allowing external tables to benefit from partition pruning and partition-wise. https://oracle-base.com/articles/12c/partition
ed-external-tables12cr2#:~:text=Partitioned%20external%20tables%20were%20introduced,are%20supported%20with%
20some%20restrictions. 
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